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or = \/(a/\/ﬁ+b)2+(a/\/ﬁ+b)2

(1.1)

E1= Aexp(—x/\) (1.2)
E2 = Aexp(—(z —x)/\) (1.3)
2 =100 (1.4)
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Tch[V] | 8ch[V]

high | -1673 | -1457
mid | -1494 | -1320
low | -1314 | -1184

011 0HVOO (DOoooDooooooo)

120

100 - ~

lution(ps]
/

5 80

ing resolution[ps]

60

timi

40

fit high ———
high
fitmid -

20 |

mi
fit low

low
0 L L L

position(em]

012 0O0D0OO0OO0OO0OO0OO:HVODO

2 0000O0O0ooOoOoooo (Coo)

cooooooooboobobooboooboobobooooooooooOoOobOobOOoOOoOobDOobOOobOonn
oOoPMTOOODOOOOOOOOOODOOOODOOO
000000000000 000000O00000O00O0ODO0U0DO0OO(0DOOfit000D0D0OOD0ODO

000000007 000000000000 0O0DO00DO00DOO0ODODO0O0ODO0OODO0OOOOODOO
good

02100000000000D0O

00 | E loss[MeV] att | 000000 | photonfa.u] | sqrt(photon) | OO0 OO [ps]
40*20 3.50 | 0.509 0.5497 0.98 1.01 59.99
20%20 3.46 | 0.382 0.9717 1.29 0.88 46.66
10*10 1.67 | 0.246 1.0000 0.41 1.56 74.79
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f(x) = 37.21x + 1767
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